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icdin ENEE EARH
ENEE 558 M 558  + 50 F + 500 / = 1,108 M
. ENEE2 660 M | 660 @ + 50 @ + 500 @ = 1,210 A
2&;23%% ENEES 761 | 761 A + 50 H + 500 A = 1311 M
ZNEEA 863 M 863 @ + 50 A + 500 A = 1413 A
ZNEES 964 M %64 A + 50 A + 50 A = 1514 A
A3l ENEE EARH
ENEE 645 M 645 @ + 50 A + 500 A = 1,195 M
. ENEE2 761 M| 761 @ + 50 MF + 500 @ = 1311 A
;EF:;;LIJ% ENEES 883 F1 | 883 F + 50 M + 500 A = 1433 M
ENEEA 1,003 H | 1,003 H + 50 A + 500 M = 1553 H
ENEES 1124 M | 1124 H + 50 A + 500 M = 1674 H

XY —ERZHAFRENET 1EICDOE6A0ME
KEAAEFESINGEVEGEDFTHMENDREL, FEHZY. 47THDFEEFTTI,
KNEBENEREME (L) =UVLADFAERIIHLTS. 9%FEL-HUAMTEELET,

<#EaEBE>A-1[A—6)(BET™)

[EX0R A 74HFET]

378 H

XY —E RIZ A REME
VEARIZ24H

[EF%£x% A./8[EIZET)

389 M

XY —E RIZEAEHREME
UERAIZ48H

[ SiEERE )

1E —[a]

1,647 H

XY —E RIZEAEHEREME
UEARIZ24H

[ SFEEREN ]

E = (3]

3377 H

XY —E RIZEAHEREME
UEARIZ48M

(EEXH) + (AR +(BERK) =45t
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